

QMEFN - LECTURE 3 (APPENDIX)

$$y_t = \beta_0 + \beta_1 x_t + u_t \quad t = 1, \dots, T$$

$$\text{OLS PROBLEM: } \min_{\hat{\beta}_0, \hat{\beta}_1} \sum_{t=1}^T \hat{u}_t^2$$

$$\text{WHEN } \hat{u}_t = y_t - (\hat{\beta}_0 + \hat{\beta}_1 x_t) \quad (\text{RESIDUALS})$$

$$\begin{aligned}
 \sum_t \hat{u}_t^2 &= \sum_t (y_t - \hat{\beta}_1 - \hat{\beta}_2 x_t)^2 = \\
 &= \sum_t y_t^2 + \sum_t \hat{\beta}_1^2 + \hat{\beta}_2^2 \sum_t x_t^2 - 2\hat{\beta}_1 \sum_t y_t \\
 &\quad - 2\hat{\beta}_2 \sum_t y_t x_t + 2\hat{\beta}_1 \hat{\beta}_2 \sum_t x_t
 \end{aligned}$$

$$\text{FOC: } \frac{\partial \sum_t \hat{u}_t^2}{\partial \hat{\beta}_1} = 0; \quad \frac{\partial \sum_t \hat{u}_t^2}{\partial \hat{\beta}_2} = 0$$

$$\frac{\partial \sum_t \hat{V}_t^2}{\partial \hat{\beta}_2} = 2T\hat{\beta}_1 - 2\sum_t y_t + 2\hat{\beta}_2 \sum_t x_t$$

$$\text{SINCE } \sum_t \hat{\beta}_2^2 = T\hat{\beta}_1^2$$

EQUATING TO ZERO: $\sum_t \hat{\beta}_1 - \sum_t y_t + \hat{\beta}_2 \sum_t x_t = 0$

$$T\hat{\beta}_1 - T\bar{y} + \hat{\beta}_2 \sum_t x_t = 0$$

$$\text{SINCE } \bar{y} = \frac{\sum_t y_t}{T} \text{ AND } \bar{x} = \frac{\sum_t x_t}{T}$$

$$\text{HENCE : } \widehat{m}_1 - \bar{y} + \widehat{m}_2 \bar{x} = 0$$

$$\boxed{\widehat{m}_1 = \bar{y} - \widehat{m}_2 \bar{x}}$$

$$\frac{\partial \sum_t \hat{u}_t^2}{\partial \hat{\beta}_2} = 2 \hat{\beta}_2 \sum_t x_t^2 - 2 \sum_t y_t x_t + 2 \hat{\beta}_2 \sum_t x_t$$

$$= 2 \hat{\beta}_2 \sum_t x_t^2 - 2 \sum_t y_t x_t + 2 (\bar{y} - \hat{\beta}_2 \bar{x}) \sum_t x_t$$

After substituting
 for $\hat{\beta}_2$

$$\begin{aligned}
&= 2\hat{\beta}_2 \sum_t X_t^2 - 2 \sum_t y_t X_t + 2\bar{y} \sum_t X_t - 2\hat{\beta}_2 X \sum_t X_t \\
&= 2\hat{\beta}_2 \sum_t X_t^2 - 2 \sum_t y_t X_t + 2\bar{y} \sum_t X_t - 2\hat{\beta}_2 \sum_t X_t^2
\end{aligned}$$

Equating to zero :

$$\sum_t \hat{\beta}_2 X_t^2 - \sum_t y_t X_t + \sum_t \bar{y} X_t - \sum_t \hat{\beta}_2 X_t^2 = 0$$

↓

$$\hat{\mu}_2 (\sum_t X_t^2 - T \bar{X}^2) = \sum_t y_t X_t - T \bar{y} \bar{X}$$

$$\hat{\mu}_2 = \frac{\sum_t y_t X_t - T \bar{y} \bar{X}}{\sum_t X_t^2 - T \bar{X}^2}$$

N.B. $\sum_t (X_t - \bar{X})^2 = \sum_t X_t^2 + \sum_t \bar{X}^2 - 2 \bar{X} \sum_t X_t =$
 $= \sum_t X_t^2 + T \bar{X}^2 - 2 T \bar{X} = \sum_t X_t^2 - T \bar{X}^2$

$$\begin{aligned}\sum_t (y_t - \bar{y})(x_t - \bar{x}) &= \sum_t y_t x_t - \bar{y} \sum_t x_t - \bar{x} \sum_t y_t \\ &+ \sum_t \bar{y} \bar{x} =\end{aligned}$$

$$\begin{aligned}&= \sum_t y_t x_t - \cancel{\sum_t \bar{y} \bar{x}} - \sum_t \bar{y} \bar{x} + \\ &+ \cancel{\sum_t \bar{y} \bar{x}} = \sum_t y_t x_t - \sum_t \bar{y} \bar{x}\end{aligned}$$

HENCE :

$$\hat{\beta}_2 = \frac{\sum_t y_t x_t - T \bar{x} \bar{y}}{\sum_t x_t^2 - T \bar{x}^2}$$

$$\boxed{\frac{\sum_t (y_t - \bar{y})(x_t - \bar{x})}{\sum_t (x_t - \bar{x})^2}}$$

$$SOC: \frac{\partial^2 \Sigma_t U_t}{\partial \hat{p}_2^2}$$

HAS TO BE > 0 FOR
A minimum

$$\frac{\partial^2 \Sigma_t U_t}{\partial \hat{p}_2^2}$$

HAS TO BE > 0 FOR
A minimum

$$\begin{aligned}
 0 < \sum_{t=1}^T (x_t - \bar{x})^2 &= \sum_{t=1}^T x_t^2 - T\bar{x}^2 = \sum_{t=1}^T (x_t - \bar{x})^2 = 0 < T \\
 \frac{\partial \sum_{t=1}^T x_t^2}{\partial \hat{\beta}_2} &= \frac{\partial}{\partial \hat{\beta}_2} (\hat{\beta}_2 \sum_{t=1}^T x_t^2 - \sum_{t=1}^T y_t x_t + T\bar{y}\bar{x}) \\
 &= 2 \sum_{t=1}^T x_t^2 > 0
 \end{aligned}$$

$$\frac{\partial \sum_{t=1}^T x_t^2}{\partial \hat{\beta}_1} = \frac{\partial}{\partial \hat{\beta}_1} (\sum_{t=1}^T \hat{\beta}_1 - \sum_{t=1}^T y_t + \hat{\beta}_2 \sum_{t=1}^T x_t)$$